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: QussTion 7 (40 MARKS)
Question 7 (a) (i)
A a=2n+1,b=2n" +2n, c=2n" +2n+l
v n=2:
a=22)+1=5

h=202)" +2(2)=12

c=22)y +22)+1=13

a +h =5 +127 =25+144 =169
=13 =169

dt+ b =

Question 7 (b) (i)

Question 7 (2) (if)
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fP’Af2 =x'+2=x"+4

PB =(5-x) +2*
=25-10x+x"+4
=x’ ~10x+29

Pl =(1-x) +2°
=49-14x+x" +4
=x" ~14x+53

U —"
- e wm e wm W wm . wm w

Question 7 (b) (ii)
f(x)=3x" - 24x+86
[(x)y=6x-24=0
Lx=4=k

f(4)=3(4)" - 24(4) +86 = 38
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f(xy=|PAl +|PB|" +|PC[

= 444+ x —10x+29+ x> —14x+53
=3x’ ~24x+86



